Seeking approval for Outstation Tour - Cooch Behar Market - (14/02/2023 to 16/02/2023)

2 messages

Anirban Ghosh <Anirban.JyotiGhosh@ariston.com> To: Aazad Singh <Aazad.Singh@ariston.com> Sun, 12 Feb, 2023 at 10:25 pm

Dear Sir,

I need to travel at Falakata, Dinhata, Mathabhanga, Cooch Behar, Boxirhat, Tufanganj & Others Market on 14/02/2023 to 16/02/2023 for urgent market related work mainly to attend call of a prospective new dealer and apart form that, some secondary business have to be generated in each places. Considering the current scenario, the local travel is not safe also it is not available properly. So I request you to please approve the above said tour with my own car. The cost of the Own car approx. Rs. 5795.00 + Toll Taxes for 3 days 2 nights.

The Tour Details as follows (Approx. by Own Car).....

SI.No.	Date	Day	From	То	Approx. Distance - KM	Fare @ 9.50	Total Fare	Market Covered	Night Stay
1	14-02-2023	TUESDAY	SILIGURI	COOCH BEHAR	260	9.5	2470	MATHABHANGA / DINHATA / CHOWDHURY HAT	COOCH BEHAR
2	15-02-2023	WEDNESDAY	COOCH BEHAR	BOXIRHAT	55	9.5	522.5	TUFANGANJ / BHATPARA / BOXIRHAT	
3	15-02-2023	WEDNESDAY	BOXIRHAT	COOCH BEHAR	55	9.5	522.5	TUFANGANJ / BHATPARA / BOXIRHAT	COOCH BEHAR
4	16-02-2023	THURSDAY	COOCH BEHAR	SILIGURI	240	9.5	2280	NISHIGANJ / FALAKATA / DHUPGURI	
	TOTAL					9.5	5795		

Thanks & Regards,

Anirban Jyoti Ghosh

Ariston Thermo India Private Limited.

Part of Ariston Thermo Group.

C/o Smart Work Business Center Pvt. Ltd., Victoria Park, Level 9 , Cube 015, Bock GN, Plot 37/2, Sector V, Salt Lake, Kolkata – 700091, India.

TEL: +91 033-40558143

MOB: +91 94340 47075 / 94340 47074

E-MAIL : anirban.ghosh@aristonthermo.com

aristonthermo.com

www.racold.com

This email and any attachments are confidential, except where the email states it can be disclosed. It may also be privileged. If received in error, please do not disclose the contents to anyone, but notify the sender by return email and delete this email (and any attachments) from your system

Sustainability is one of our Corporate Values. Please think before you print this email

90th Anniversary-Signature Image

2 attachments image001.png 4 KB image002.jpg 48 KB

Aazad Singh <Aazad.Singh@ariston.com> To: Anirban Ghosh <Anirban.JyotiGhosh@ariston.com>

Ok approved.

[Quoted text hidden]

Dear Sir,

I need to travel at Falakata, Dinhata, Mathabhanga, Cooch Behar, Boxirhat, Tufanganj & Others Market on 14/02/2023 to 16/02/2023 for urgent market related work mainly to attend call of a prospective new dealer and apart form that, some secondary business have to be generated in each places. Considering the current scenario, the local travel is not safe also it is not available properly. So I request you to please approve the above said tour with my own car. The cost of the Own car approx. Rs. 5795.00 + Toll Taxes for 3 days 2 nights.

The Tour Details as follows (Approx. by Own Car).....

SI.No.	Date	Day	From	То	Approx. Distance - KM	Fare @ 9.50	Total Fare	Market Covered	Night Stay
--------	------	-----	------	----	-----------------------------	-------------------	---------------	----------------	------------

Sun, 12 Feb, 2023 at 10:30 pm

1	14-02-2023	TUESDAY	SILIGURI	COOCH BEHAR	260	9.5	2470	MATHABHANGA / DINHATA / CHOWDHURY HAT	COOCH BEHAR
2	15-02-2023	WEDNESDAY	COOCH BEHAR	BOXIRHAT	55	9.5	522.5	TUFANGANJ / BHATPARA / BOXIRHAT	
3	15-02-2023	WEDNESDAY	BOXIRHAT	COOCH BEHAR	55	9.5	522.5	TUFANGANJ / BHATPARA / BOXIRHAT	COOCH BEHAR
4	16-02-2023	THURSDAY	COOCH BEHAR	SILIGURI	240	9.5	2280	NISHIGANJ / FALAKATA / DHUPGURI	
	TOTAL					9.5	5795		

Thanks & Regards,

Anirban Jyoti Ghosh

cid:image001.png@01D564D5.7BD3AFE0 Manager - Sales

Ariston Thermo India Private Limited.

Part of Ariston Thermo Group.

C/o Smart Work Business Center Pvt. Ltd.,

Victoria Park, Level 9, Cube 015,

Bock GN, Plot 37/2, Sector V, Salt Lake, Kolkata – 700091, India.

TEL: +91 033-40558143 MOB: +91 94340 47075 / 94340 47074 E-MAIL : anirban.ghosh@aristonthermo.com

aristonthermo.com

www.racold.com

This email and any attachments are confidential, except where the email states it can be disclosed. It may also be privileged. If received in error, please do not disclose the contents to anyone, but notify the sender by return email and delete this email (and any attachments) from your system



2 attachments image001.png 4 KB image002.jpg 48 KB